Z WL R

PpE @

* Z IpVAflEe

Casel: @i{F,EI!I‘i‘B’E@ 0- '[ﬁﬁffﬁlE'J conv 3[Jf’
1 X1(2)=2+3z2"+4z% X2(2)=3+4z +52°+6Z %, 7 X3(2)=X1(2)*X2(2)
Matlab: x1 =[2,3,4]; x2=[3,4,5,6]; X3 = conv(x1,x2)
x3=6 17 34 43 38 24
3. X3(2)= 6+1721+342°%+4373+387%+247°

Case2: EHERET L 0 F=ffH ] conv_m A[IF
1 X1(2)=2z+3+4z"; X2(2)=32°+4Z"+5+6Z ", T X3(2)=X1(2)*X2(2)
Matlab: x1=[2,34]; n1=-1:1; x2=[3,4,5,6]; n2=-2:1; [x3,n3] = conv_m(x1,n1,x2,n2)
x3 = 6 17 34 43 38 24
n3 = -3 -2 -1 0 1 2
. X3(2)= 62°+172°+347 +43+387 1 +247°

* FHIH(@2) # x(n)
Gl H@)=2z?/(2%0.723
Matlab: b=[0 0 1]; a=[ 00 1 -0.7]; [delta,n]=impseq(0,0,7); x=filter(b,a,delta);
??7? Error using ==> filter
First denominator filter coefficient must be non-zero.
B1: H@=1/(1-07z% (i HE@)=Y@/X(2) - Fﬂ(r{ X(z)?ﬁ,ﬁ’frfg‘lﬂqﬁ ’ ﬁtl’ﬂ, H(2))
Matlab: b=[1]; a=[ 1-0.7]; [delta,n]=impseq(0,0,7); x=filter(b,a,delta);
x =1.0000 0.7000 0.4900 0.3430 0.2401 0.1681 0.1176 0.0824
ﬁél& FEERE y()-0.7y(n-1)=x(n)z 5 Fe A

* H(2) pysiae
1

51 X@= (1-0.92%)%(1+0.9z%)’
Matlab: b =1; a=poly([0.9,0.9,-0.9]); [R,p,C]=residuez(b,a)
R=  0.2500 + 0.0000i

0.5000 - 0.0000i

0.2500
p = 0.9000 + 0.0000i

0.9000 - 0.0000i

-0.9000

C=1]

,ﬁ'{f_",%‘ : X(@=

17>0.9

0.25 0.5 0.25
+ + ,
1-09z' (1-09z1* 1+09z*

17>0.9



ﬁ%t : a=poly([2-3])
a= 1 1 -6 Note (x-2)*(x+3)= x*+x-6

* HIH(@2) %H}Ff%
) _ 1
Bl HE@= 1 her

Matlab: b=[1]; a=[1-0.9]; w=-2*pi:pi/100:2*pi; %>V 401 EHF
H=fregz(b,a,w);
magH = abs(H); angH = angle(H);
subplot(2,1,1); plot(w/pi,magH);grid
xlabel (‘frequency in pi units); ylabel (‘|X);title('M agnitude Response’)
subplot(2,1,2); plot(w/pi,angH);grid
xlabel (‘frequency in pi units); ylabel (‘Phase in Radians);title('Phase Response);
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szt [Hw]=fregz(b,a,N); % w: =755 Hi b e ”f%‘ﬂﬁ[ﬁ”N %ﬁfﬁfg
[Hw]=freqz(b,aN,’whole’); % w: &5 “Hf HIbEN N %ﬁﬁ’?fg

% [T HE) BEHT FHH

b=[1]; a=[1-0.9]; zplane(b,a);
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H(Z)F T‘”fl’[ KL
Bl 2 2= HAER 0 y(n)-15y(n-1)+0.5y(n-2)=x(n), >0 X(n)=(0.25)"u(n)
FIGIERE © y(D)=4; y(-2)=10

Sepl: AT xic
X(2) 1-2z*
JEr: Y (2)= +
H @ 1-152'+0527% 1-152'+0.527
xic=[1-2]
Matlab : b=[1];

a=[1-1.50.5]; YO=[4 10]; XO=[];
xic=filtic(b,a Y 0,X0)
H xic= 1 -2

Sep2: F|F| filter ?F”[—?J‘j* JH':
Matlab: b=[1]; a=[1-1.50.5]; n=[0:10]; x=(0.25)."n; xic=[1 -2]; y=filter(b,ax,xic);
y = 20000 1.2500 0.9375 0.7969 0.7305 0.6982 0.6824 0.6745 0.6706 0.6686
0.6676

F= @ =57 HFEZ D y(n)-0.9y(n-1)=x(n),n>=0  x(n)=u(n)

FIIEE © y()=2

Matlab: b=[1]; a=[1-0.9]; YO=[2]; XO=[]; xic=filtic(b,aY0,X0); % xic=1.8
n=[0:50]; x=ones(1,51); y=filter(b,ax,xic); stem(n,y);
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b=[1]; a=[1-0.9]; n=[0:50]; x=0ones(1,51); y=filter(b,ax); stem(n,y);
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